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INSTRUCTIONS FOR STUDENTS

Please read the following instructions carefully and then answer

the questions on OMR answer sheet only.
1. All questions are compulsory.
2. The blank pages are given in this question booklet for rough work.

3.  You must have to submit the OMR SHEET to the invigilator upon

completion of the examination.

4. Please do not mark anything against the options A, B, C, D, in the question
booklet.

5. Please carefully read OMR and Hall ticket instructions.

6. It is compulsory to check the Category (A, B, C, D, E) on the
OMR SHEET which is given at the top corner of the question paper.
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(1) Whichsmong the following represents the heaviest weight ?
~ (A)04 weight measuring Tools, cach of 100 gm ‘
(B)03 weight niieasuriﬂg Taofs, cach of 150 om
(C) 02 weight measuring Toais, each 0?20{} gm
(D) 08 weightm’easuﬁng Tools, eachof 50 gm

2y  The difference of place Vaiues of6and2in3625is........ o |
ws o (ByA00
- ([©620 . (D) 580 S |
43 A’gmujgécogsisﬁsmﬁaiﬁ"mem’be’rs; Each member deposits Rs. 25 every month. After 5 Years, the
‘  total deposited amount of group will be ..o B i i ,
 (A)60,000 -  (B)40,000
(C) 25,000 o (D}20,000
(&) ThePrice of 1 kg gourd is Rs. 20 then the price of 4-435 kg gourd mustbe ..o
(ARs.95  (B)Rs.85
(C)Rs.90 . ~ (D)Rs.80
) Find outthe mizmrz}mage ofthe Following Figure.
: X : ,’_%_ :
-+
' =X : ' ! -]+
WET+] | Bl
6 i ,.isammmgnmu%ﬁpieeﬁ,éan&5.
e | e
()30 | - (Dwo .
(7)  Aroom consisting the area of 8ftx 16t Ownerpurchas d the tiles, but the measurement of tiles was
 assuch, it compelled him to cut some tiles to cover the entire room. The tilemustbe of c.ccccccovienen
(A)1f.x 1R . ®2fx2ft
(©3fx3%. . (D)Aftx4ft
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(®)

~ Mohan begaxz toread at2:15 pm and he!eentinuedreading for 90 minutes. Moha.nmust haye readtill

? -
.
©345pm miadem
’(9) ,’ 01 Paisa=.............. Rs. S .
L M - ,' o (Bf)»(}"l
enn . oW
(10 l\,hm ba&acuﬁency note of Rs. 50 He bought lﬁbananae, eaeh cos ngs 2 50. Then howmuch
amaummﬁ 'éhe shepkeeperremmw}nm'? . -
(A)Rs. 10 © (B)Rsl5
©Rs.40 fe “"@&m
. (ih ""‘he pemmetef of on»., square 1e 100 cm. shen its area wﬂl be .
. 1A}50¢m - | (B}625cm
. jfcneeecm . (D)IOOOOcm
(12 | Hewmanypzecesoﬂcmx1cmcanbefenneéﬁomlmt><lmteioth‘> -
@i sy
©% .
) A—~E,K~—H PAR = 35 then PARK = ..o ?
(A4S i (B)46
©a o
(iﬁ@) Ramebh beugm 60 kg mangoes at the cest of Rs. 20 per kg When he extracted the ije
| it wezghed 3 ofthe weight ofmango NowRamesh sells mango 3ulcemthRs 100 perkg pnee Hew -
rmuch pmﬁt willhegain? | ; - |
(A)Rs. w ,(B)-Rs 480
_ (C)Rs g0 | (D)Rs 6,000 - y
| {15‘)’ An enciosed Fig‘ure is desxgned W!th 05 (sze) match S'CleS 1t Wlli formangies
.. -
o o3
CET2025 () 2000 Pagedi2d




(16}

)

(18)

~~
[
O
~—

Find the probability of having the right angle formed, if one hand of a watchis on digit 12 and the other

is on any other digit.
(A)1 (B4
)3 " ' D)2

What can be asserted about the perimeter of ﬁgm‘e ‘Aand ‘B’ 7
(A) The perimeter of ‘A’ ismore 7 (B) The perimeter of ‘B’ ismore ?
(C) The perimeter of ‘A’ & ‘B’is equal (D) Nothing sure

There is a square chess board having 8 blocks in onerow, and the length of each block is five (S)cm.

the total area of square will be .o

*

(A)1600sq.cm. | (B) 400 sq. cm.
{C) 6400 sq. cm. (D) 800 sq. cm.
rv\;g . * ’g’ . . ‘\,Q
& 1T K
o Y
1 &L
&‘{3‘(’9 Qy@v @\?’65
i 1 &
& IS P
\5”& &/‘”& <

An above figure represents the area of vegetable plantaﬁon IN i Part of total area, a

farmer has planted the tomato.

eserk

o

® < | ® 3

-
©3 | ©%
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20 Ll- % = {.6. Find the Value of (?)

(A)4 (B) 16 (©)2 (D)8
(21) Which among the following word if rotated at 1 80°, even then it read as such ?
(A)ZOOM (B) SMIWS
(C) LOOL (D) WOW
(22) 36isnotamultipleof....................
(A)4x3x3 ’ © (B)6x3x2
(C)3x2x5 (D)9 x2x2

(23) When 63 is reversed (the unit digit and tens digit reversed), if newly formed two digit
number is added to main number then it will be .....................

(A)78 (B) 99 (C)89- (D) 36
24) 15.6CM=.uurnnnn..... ....mm.

(A)1.56 (B) 1560

(C) 156 | (D)0.156

(25) Inwhichdirection should Mahesh walk if he wants to travel from Home to School ?

Lake North

School||

Temple — I

Home

[]

(A) North — East — North — East — North (B) North —> East — North — South

(C) North > West —» North (D) North — East —> North — West — North
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(26) ! ! l I ! 5! The length of the nail is .............. cm.

0 1 2 3 4

w3s ®)2.5

(C)3.0 | (D)2.0
(27) The Perimeter of a circular park is 500 mt. If Aayushi has to cover the distance of 3 km.
then she has to complete .................. circles.
(A)4 (B)>
©7 D)6

(28)  Anjali has 4 dozen bananas. She distributes 02 bananas to each friend. Then there remains
14 bananas with Anjali. How many friends does Anjali have ?

(A)18 : (B) 34
(C) 17 (D) 14

(29) Refer the graph and answer the question.

50 |-

40" |—

30

20 j—

10" |-

The hottest CIty iS ....eoeeeecenrunes
(A) Chennai (B) Bhuj
(C)Manali (D) Surat
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(30)

G

(32)

(33)

(34)

(35)

(36)

At which of the following time, the angle formed between the hands of a watch will be greater thanthe
Rightangle? '

(A)03:10 (B) 12:10
(€) 14190  (D)09:10

A triangular shape farm with the measurement of sides, 3 mt., 4 mt & 5 mt, needs to be fenced, then
itneeds .ocoeneereenenes mt. long wire.

{(A) 60 mt. (B)25mt.
(C)12mt. ‘ (D)30mt. .
The sum of five odd numbersis.......ccececvvveinennnn.
(A)20 B2
(C)25 ' (D)2eé

If 339.pencils are distributed among the students as such, each student gets 04 pencils.
How many pencils will remain undistributed 7

(A)2 , B)3
(C)4 D)5

32 laddus are made from 1 kg. materials. and 8 laddus can be packed in one box. If a sweet maker
makes laddus from 4 kg. materials, then How many boxes does he need to pack ?

(A)4 (B)12
(C) 16 - (D) 18

How many cubic boxes with 1 mt. length can be fixed in this box ?

2 mt.
(A)2 , o (B)4
©6 O3
%— part of flower petals is presented in the picture. How many such petals will
make a complete flower ?
(A)S (B)4
©)3 D)2
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 En Which"&mmgﬂlefqﬁowingmmibersr’éadthe sa’me_*friom,ieﬁ-:'ﬁoi}.ﬁght andright-toleft?
®us
@) 1511

How many rods in the picture have the length more than icm 5

(A)65q.unit . ®l2squnit
(C) 4 sq. unit - . (D8squnit

@9 | } Which is the next picture ?

@\ §

tkites.

=3 kites then| ™\

(C) » (D25

(41) Monu stays in Gujaxat Sonu resxdes in West Bengai If ’vlcmu wishes i;o'ki;risi‘eSmizg’s home,
~ hewill travel 10 the .oovcccoinniniinne ‘ ‘ '

C @West . ’k:{inz}North ;
(C)East . . () South
(42)‘ ~ Ifa batsmén got eut on64. He would have needed 10 Score . ....... ‘more runs to %eas,h a cemm’v.
W3 | - B)38 |
w32 o V - (D)36

CET-2025(A)  Page 924



(43) 110,220, 330,ﬁ;f140.~'Pattcmfepresants,é:ha'rzﬁe'@f .

() Adding 130
(D)Adding110 L
"(44') Ifien t%mes of4 is added to the haifbf 100, it gives, ...... ,,,,,,,, | i
w0 B
e . ;8o

@)

@“6)

Among the Following number, L sets fit at the place of (?) -
@ws o o e
©s D10 |
47) 15764= ADMCJ,Q&:%Z# XNTY, then 942731 =2
(A)XIYMAT -
(B) XYIMTA
(OXIYMTA
(D) XNYMAT
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49)

(50)

D

(32)

......................

Code correctly stays fit at number 4, as per coding presented.
(1)A2B

(2)D4E

(3)Go6H

@

(A)JSL B)I8L

(C)J8K ' (D)I8K

Which is the shortest route from Home to School ?

5 + School 9

3 km £ 4 km
, 5km
1 km 7 km 8 km
2km |3 11 3
2 T Tkm
Home 6 7
8 km - 2km
(A)1-2-3-4-5 B)6-10-11-12 |
(©)6-7-8-9 (D) all three ways are equal in length

The biggest three digit number is subtracted from the smallest four digit number then there
TEMAINS .oovevvereesee "

A1 (B)2

(©3 - - o)

If a square farm covers 400 sq. mt. area then the length of the farm is .....cocoeennvnen.
(A)10mt. (B)15mt.

(C)20mt. - (D) 25 mt.

If 11 dozen bananas costs Rs. 121 then it COStS ....ceuuueent for 5 dozen bananas.
(A)Rs.70 | | (B)Rs. 65

(C)Rs. 60 (D)Rs. 55
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(53) Ifcar Atravels with the speed of 20 km/hr and car Bwith 15 knmvhr. Which among the two takes more
time to cover the distance of 200 km ?

(A) Car A takes 3 hours more (B) Car B takes 3 hours more
(C) Car Atakes 6 hours more (D) Car B takes 6 hours more
(54)  Total number of prime numbers lying between 1020 = ......cccovvuene. .
' (A) 09 (B) 10
O1 (D) 12

(55) Which among the following figures consists shaded part, with equal fraction ?

[

M - | @

Z

Z 4
3 | )
(A)1&2 | B)2&3

©3&4 D)1&3&4

(56) If % =5Apples

Which among the following represents one dozen (12 apples) ?

- O+ (B),74+&+O+Q ,
© /\+/\+/\+/\+O (D) O+O+O+O+O e
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G175 R among the following figures remain same in shape, even though it is rotated on its axis

at 90°
o [
A) ®) O ' ®)
(A)A&C (B)B&D
OA&D D)B&C

(58) Find out the incorrect pair.
(A) Distance — km.
(B) Time — Light year
(C) Mass —kg.
(D) Distance — Light year

(59) A milestone pillar on the way, from Ahmedabad to Rajkot shows, Ahmedabad - 124 km.
on one side and Rajkot - 156 km. on the other, then the distance between Ahmedabad and Rajkot is

(A) 156 km. (B) 380 km.
(C) 32 km. ‘ (D) 280 km.

(60) Find the number of rods with more than 1 cm. length -

@2 (B)3
©)4 | D)5

(61) RAER:9qa

AUAS oeeeeneenennnn
(A) U8R (B) uall
©Cywell (D)0
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(62)

(63)

(64)

(65)

(66)

(67)

SreReni 9s ALl B O . 2 e LAG sf sy 8?7
() AvelRani ol sl B8 elu 8.

(B) Arefaui Jodls Blpl sl U ®.

(©) 2Rani As Raru-{l ofley Bzl el B4 &l -l |

(D) Ar2Reti s A ol Bl el Bl el 8.

WAL BEHE o vvvvvnennnnnns ¥d Slu e,
(A) MHSN ®)d
(C) AL (D) 62

R seel © dg s sl usiy ?
(A) % Arll 2l VoL 535 Sl
(B) %A A H&MLriA voy Histefl elletiact gl

(©) °2?l A A5 edadl o el SlU.

(D) % A viot YL vifdl Sl

Arecanut 4ol |

(A) Sl (B) 2=l
(C) Al (D) Mus0

“ory Sl dl 0L Mel” ael 2l el fiAeiiell 520 9.

(A) Own is the best |

(B) Good mind good find

(C) Goodness can be borrowed

(D) He who grasps, can start

(Arumiell yRast st w3RAUL Ay B, Al vl sl Rseyeufd © ?
(A) 35 He9ell €1 cletiot

(B) ¥\s w2 2L oI

(C) A5 A M4 €l

D)WY U LA guR 51

CET-2025 (A) Page 14/24



(68)

69)

o

-

(72)

73)

R

s

vy

 opoian] 2oneur 20 Bl gs et olig asells Usdl, Jus @y 3 AR Asll ... AL

(a) R o ®uadd

(©) cudoidl ,. - (6wl

sl o el

’(A}f%%%" o ’ i - ',(B)Wuvtg

©id - . Ddwa

(Aydiadl ~ o B mm;u

The Ganga is a perennial river. Perennial M@0l ......ooouviinns -

(©ddsn | . o4
RHARL e e
(Ainferiority | @y -
(©modemity  (D)specialiy

IR edier
WL it .
(Ayeus s

: (C‘}(’i%dl e : ’,‘,,;,’: ’ (D)Q{gé L
wleg e, R ... i Loeulas .

(A) Collection . (B)Classification
(C)Sugesstion  O)Fimion
TWins; w2 [2-1ie] 52 oyl 4o sl Gl 7 |
@ o mRa

©ad o

el wiotelie welli ... csdl |
@wd @

(76)

ARG D,

(Auasd . (B auwd
(C) @vieioL . (D)adwu
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an

(78)

(79

(80)

@81

,/(yr32)ﬁ |

(83)

(84)

(85)

QA RRA e Bl

(A) MRRHL o Bsssw
(© w@ﬁn& %R
saA2 A ... & o .
(A) Al 202 . ",Q'(B)Cui“l'%l.,::,_ |
(C) wiiopiRL . @assl
vtélquweruumelq&%............;:.“.'~.'3€s.qu. .
(A) @cel.l't , o (B)GerrtAA -
(©doman = &lvt |
PO LT glu g , |
(A) Halid - Bk
, ©)uslles . ) wRBa ; ,
.lehlth visited Handwar He sat onthe bank of river Gangé and felt oo .
(A) disrbed . (B)tranquil -
(C)tortuous o  (D)whiring
I saw the twin brothers who are MUCH .o sol couldn’t recognize.
(Aidentical '(B) isolated
,(C)'Clilferent o _ e (D)'unlike -
Arjun saw nothmg else e ...righteye > of the blrd
(A) accept : » - S '(B)*expectw o
- (C)'except | '~ o (D) excerpt .
It was wet - monsoon so itwas...... ceecerenenens tO play outside.
e piue
(Cyimpossible . o practical' .
King A wanted to cross the mountam with elephants but the hlllS WEre 100 ....ovvnnns .. SO he called off ‘
his decision. o '
1N S:toop_ ; - o (B)‘Pla,in’
‘(C) i | - 4, . : (D)Stmnge
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(86)

(87)

(88)

(89)

(90)

O

(93)

%4)

Arjun ;: bow & arrow

(A) Spear (B) Mace
(C) Sword | (D) Dagger
A person usually feéls feared Whenhe ...,
(A) sits lazily (B) stays with known
(C) takes new actions (D) repeats old actions
“Leave the ship”. Itis .cccccvvvveecrivnenen. Sentence.
(A) assertive (B) exclamatory
(C) interrogative (D) imperative
The blue Dharma chakra stands .................. progress.
(A)on (B)along
(C)in (D) for
Find odd one.
(A) Conflict * (B) Harmony
(C) Quarrel ‘ (D) Dispute
EERCREHETR I ER Rl
(A) 8o — T (B) ¥R — ST
(C) 93 — e - (D) e — FARH
‘Al = ey § e € 2
(A) TR (B) I
€)= . (D) ==l
STeGEhIY o STTHR HI-91 I8 TER shH T S1TQm ?
(A)FfY (B) FaH
(C) g D) F
BREIEZREEIEY
AW (B) =& Tig¥ ¥ wig fea |
(C) &9 g el ST | (D) T

Page 17/24
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95)

(96)

o7

(100)

i1 e qE=IT |

GVE | (B) W
(©) fawt (D) I
Aﬁﬁﬁmmﬁmﬁm

(A) A0 T ¥ |

(B) AR TR

(C) 3T T TR ¥ |
(D) I TF AL | )

...................... foral TR W AL

(A)T® B

©) 3 (D)4

e 9] i e g T

(A) 31 = 113 (B) B2l x w1
NOLCER (D) 41 x B
1 U1 I | |

£ OO

(A) BA R EI | (B) Q@ WIE |
C)Taw@E D) TawE
a3 et e fae € 1) A B R - g ?

(A) S : (B) &

O IR (D) e € 1

(101)

Which among the following rivers flow in Gujarat ?
(A) Tapi, Narmada, Machchu, Purna, Vishwamitri
(B) Tapi, Ganga, Purna, Vishwamitri, Ghelo

(C) Tapi, Bias, Machchu, Purna, Ghelo

(D) Tapi, Purna, Bhagirathi, Ghelo, Machchu
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(102) According to the Forest Rights Act - 2007, the responsibility of protecting the forest lies

(103)

(104)

(105)

(106)

(107)

(108)

(109)

With oo, .

(A) Sarpanch | (B) Gram Sabha
(C) Villagers (D) Police

The lesson, “Across The Wall” teaches us to remember ...........
(A)Ilamaboy ‘ (B)Iamagirl |
(C)Iam aplayer (D) none

Leh is also KnOWn as .................

(A) White desert A (B) High desert
(C) Cold desert . (D)Flatdesert
The dance performed by the people of Mizoram IS cerreeeeererrenene
(A) Cherav (B) Kuchipudi

(C) Kathakali (D) Kathak

The Special feature of Adi kadi Stepwell is ................... .

(A)Itis 310 ft. long from east to west
(B) Itis 10.5 ft. long from north to south
(C) It has total 166 steps

~

while playing.

(D) All above
.................... dam is built over the Sabarmati river.

(A) Kadana (B) Dharoi

(C) Vanakbori (D) Ukai

Which of the following organ of Tiger is the most sensitive that enables it, to move in darkness and
search the prey.

(A) Tail (B) Mustache
(C)Eye (D) Nail
Braille scriptisbased on. ................... dots.

(A) Six (B) Four

(C) Five (D) Three
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(110)

(111)

(112)

(113)

(114)

(115)

(116)

(117

The Symbol of ....ccccevunen direction is printed on the map.

(A) East (B) West

(C) North (D) South

Which of the following statement is incorrect ? |

(A) Neil Armstrong was the first person to have Moon walk

(B) Sunita Williams set the record of the 1onoest space Journey in 2001

(C) The first fifteen days from new moon night to Full moon night is called Waxmg phase
(D) The first fifteen days from Ekam to moonless night is called Waning phase

The fort of uparkot iS inl c.cceveveeieersencens ‘
(A)Bhyj ' B (B) Vadodara
(C) Bhavnagar ) Junagadh
................ . floats on water. | ) ‘
(A)Glass (B)Iron

(C) Sand ~ (D) Ice

Water from undigested food is absorbed in ..........cocceee

(A) Large Intestine _ (B) Stomach
(C) Esophagus | (D) Small intestine
................... makes axe and sickel.

(A) Carpenter (B) Cobbler
(C) Black Smith | (D) Potter
................... ‘helps the body sustain energy

A) V1tamm ‘C (B) Vitamin ‘A’
(C) Vitamin ‘B’ (D) Vitamin ‘D’
.................... uses electric signals for warning. J

(A) Sparrow (B) Dog

(C)Fish (D) Elephant
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(1 1 8) Wluch among the followmg statement is mcorrect about snake ‘7
1029) Snake releases poison through its teeth mto the body that it bites. ,
B) Snake has fourhollowteeth | -
(C) Cobra is a poisonous snake.

:'(D) 'Ihe medicines admnustered in treatmg snakeblte 1s made ﬁom snake venom f .

119) ... '...;.‘..1sahunt1ngplant o : ’
 WMimosp [ ;<B>Pit¢hermém .
, ,'(C)Puncturevme . k’ ,’ (D)AIdUSi - i -
' (120) Which among the followmg palrs correctly represents edlble items and 1ts 1nd1genous
producer ? o .
@) Ladyﬁnger"_v-—'Aﬁica ‘ : ,:k(By)kChilli—-Europe
(C©)Tea-SouthAftica | (D)Soyabean—lndia -

R
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